06 Grammar L4 Answers

Lesson Conversation (Kanji Edition)

Yu:  FEWTT,

Matt: e[  BEDOWHE BRLT=WTT D,
Yu: v, BREWLIET

Matt: Ux, BEIZ T-T XF7,

Matt leaves to go get a drink.

Matt hands Yu the drink.

Matt: IV, ¥IZ, HH., Shwv, L0 FEEEZ JE-STEIWN,
Yu: 3wy,
Matt: ZDHATT FH-T (IF30,

Matt hands his camera to her
Yur 1TV, Uy AN AT-oT (30, AN b
*Splash* *click*

Yuu b Hr, WOWEETT,

The T form

W) YE7E5IT Hp0ET, X253 TAIL IT3FL
Tomodachi ni aimasu. Kissaten ni ikimashita.
- YHEHIZ HoT, XoXTAIIL TxF L1

Tomodachi ni atte, kissaten ni ikimashita.
() met my friend and went to a cafe.
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7% »HIFET, TALZE DUHEd, —

Doa o akemasu. Denki o tsukemasu.

F7% HIT, TAZE DET,

Doa o akete, denki o tsukemasu.
(I)’m going to open the door and turn on the light.

ThLE EXxFY, BYES, —

Tegami o kakimasu. Okurimasu.

ThHhE EWT, BYFET,
Tegami o kaite, okurimasu.
(I)’m going to write a letter, and send (it).

BHRIAT ARU%2 3xFEFd, 940y v% xFd, —
Tanaka-san wa zubon o hakimasu. Waishatsu o kimasu.
HPEXATZ XR % 13T 9490+ V%E xF9,

Tanaka-san wa zubon o haite, waishatsu o kimasu.
Mr. Tanaka is going to put on (his) pants and white shirt.

D), I0oRE HmAHILE, LR—b2 FEIZILE, —
Kino, kono hon o yomimashita. Repoto o kakimashita.
2D, TDORE FHAT, LR—-pE FEIXLL,

Kino, kono hon o yonde, repoto o kakimashita.
Yesterday, (1) read a book and wrote a report.

WZIZ D%FL7, 3% BXFElLE, vvT7—% HUELE, NoFT fAFlLl,
le ni tsukimashita. Fuku o nugimashita. Shawa o abimashita. Beddo ni nemashita.
WZIZ DWW 3 E RWT, YryU—% HUT, NyRIZ hFELE,

le ni tsuite, fuku o nuide, shawa o abite, beddo ni nemashita.
(D) arrived home, took off (my) clothes, took a shower, and lay down in bed.

IWITA, HAZTWEAZ SYEY, RNEY, TLEe RId, —

Mai-ban, bangohan o tsukurimasu. Tabemasu. Terebi o mimasu.

— WA, FATIEAZ D<(-5T &BNT, TLtEz RIT,

Mai-ban, bangohan o tsukutte, tabete, terebi o mimasu.
Every night, (I) make dinner, eat, and watch TV.
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The T particle

Part 1

)

T/ RBRNELE=/ &2/ OBTIA )/ AT—>

de / tabemashita / o / hirugohan / kuruma

— AT—2 T UV5T3A%2 BXIFLIE,

5

Supiin de hirugohan o tabemashita.
(D) ate lunch with a spoon.

T/ oA/ 29N/ LFELE
de / kekkon / kobe / shimashita
XrRA ITIHINT oA LIl

Kyonen Kobe de kekkon shimashita.
Last year, (I) got married in Kobe.

L4 / Lwl7EZnw/ XyF / BFRE/ T/ D
shimasu / shukudai / beddo / Nihongo / de / no
Ny RFT HBAREDO LwllFw LIET

Beddo de Nihongo no shukudai shimasu.
(D) do (my) Japanese homework in bed.

¥/ »FUFLE/ T/ wolxlz/ 2XE

to / asobimashita / de / isshoni / kodomo

ZHIZAT ¥ uwsLrlic HZUFELE,
Koen de kodomo to isshoni asobimashita.

(D) had fun in the park with (my) kids.

BEWwIl/ o/ %2/ » /¥ /3w /T
Kaimashita / kono / wo / ka / doko / yasai / de

YT Zo3Iund BWFELED,

Doko de kono yasai o kaimashita ka.

Where did (you) buy these vegetables?

/AT /S BuELE / T/ WHIVAELS
o / tegami / kaimashita / de / yabinkyoku

= PIUAZI(T @A xZ2 BuFli,

Yubinkyoku de hagaki o kaimashita.
(I) bought a postcard at the post office.
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Part 2

MW T3 / "R /2 /) 2%/ T/ D
ikimasu / basu / ni / eki / de / kono
— ZDONAT  ZXIT 1T%F9,
Kono basu de eki ni ikimasu.
(I)’'m going to go to the station by bus.

1] =/ 7—*% /3447 / 59F+ /T

o / kéki / naifu / kirimasu / de

- 7%;\:% %47—6 %”ij‘o

Kéki o naifu de kirimasu.
(I)’'m going to cut the cake with a knife.

2] X/ T/ canwT /) BA/ ) TE
wa / de / Eigo / nan / ka / desu

= [BIFIHTTNET] I 20T T BAZVOWETH,
“Ohayo gozaimasu” wa Eigo de nan to iimasu ka.
How do (vou) say “ohayo gozaimasu” in English?

3] 500m/%»/ 3x>/ T/ TY/ K/

Gohyaku-en / sono / san-satsu / de / desu / hon / wa

— ZOXRIT 35T 500MHTT,

Sono hon wa san-satsu de gohyaku-en desu.
These books are 3 for 500 yen.

15% / 2% /12 / T/ O%%7,
jago-fun / eki / ni / de / tsukimasu.
— 154 T ZZIT DOFF9,

Jugo-fun de eki ni tsukimasu.
(I) will arrive at the station in 15 minutes.

5] 20/ 1724/ %/ K/ T/ BuFlLE

sono / ichiman-en / wo / hon / de / kaimashita

— ZOAXR% 17HAT EBuwIlr,
Sono hon o ichiman-en de kaimashita.
(I) bought that book for 10,000 yen.

(6] Wi/ T /13 / ARIRXA/ T/ =%/ €/ 0
itai / desu / wa / Sumisu-san / de / atama / kaze / ga
— AIAZAIEX HHET HFEH  WEWTT,

Sumisu-san wa kaze de atama ga itai desu.
Mr. Smith has a headache from a cold.
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The [T particle

N1 Fudhx / Wik T3 / 8:00 —

mai-asa / ie o deru / hachi-ji

Q FWhE MBI WZE HITH,
Mai-asa nan-ji ni ie o demasu ka.
What time do (you) leave the house every morning?

A: 8BFIC Wxi%x HET,
Hachi-ji ni ie o demasu.
() leave the house at 8.

Nn2) Brrw /174 /) xxok

244

ototoi / iku / Kyoto

Q: Brrw ¥YZIT TXFLED,
Ototoi doko ni ikimashita ka.
Where did (you) go the day before yesterday?

A: 3xHXic 113FL7
Kyoto ni ikimashita.
() went to Kyoto.

s/ B8%% / 7.00 —

kesa / okiru / nana-ji

Q X fIBFICT BEFLED,
Kesa nan-ji ni okimashita ka.
When did (you) get up this morning?

A: X T7BRIC BEFL
Kesa nan-ji ni okimashita.
() got up at 7 this morning.

FWIA / a3 / 11:.00 —
mai-ban / neru / juichi-ji

Q: FWITA  fIBRIC REF A,
Mai-ban nan-ji ni nemasu ka.
What time do (you) go to bed every night?

A: FWIFA  118FIC RFET,
Mai-ban juichi-ji ni nemasu.
(D) go to bed at 11 every night.




woN / EEE $5 / 8:00 —

yube / denwa o suru / hachi-ji

Q: WHIN  faAefic EFE LELED,

Yabe nan-ji ni denwa o shimashita ka.
What time did (you) call last night?

Ar I 8EFIC EEE LIl

Yube hachi-ji ni denwa o shimashita.
(D) called at 8 last night.

FWlwpdiEo / YLz 177/ 2:00 —

mai-sha-matsu / jimu ni iku / ni-ji

Q: Funwlwirix> Afaskizc JLIZ ITXFTH,

Mai-shu-matsu nan-ji ni jimu ni ikimasu ka.
What time do (you) go to the gym every weekend?

A T wIiFo 28R VLT ITEFT,

Mai-shd-matsu ni-ji ni jimu ni ikimasu.
(I) go to the gym at 2 every weekend.

TALwY /17C / Bb

senshi / iku / nara

Q HALw) ¥XZIT TxFL7E0,
Senshi doko ni ikimashita ka.
Where did (you) go last week?

A BALwI RHIZ TXFL 7,
Senshi Nara ni ikimashita.
(I) went to Nara last week.

FE P /AT ) BEUD

mai-toshi fuyu / iku / Okinawa

Q &#F ¥ XIiT T73FE90,
Mai-toshi fuyu doko ni ikimasu ka.
Where do (you) go every winter?

A BE 3D BELbLIZ TXFET

Mai-toshi fuyu Okinawa ni ikimasu.
(I) go to Okinawa every winter.

Grammar L4 Answers
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“Something” and “Nothing”

Part 1

) (fF2) OrEDE (X0,

(Nani ka) nomimono o kudasai.
Something to drink, please.

1] bhELD X0SE(XIHNT) RILED
Watashi no saifu o (doko ka de) mimashita ka.
Did you see (my) wallet anywhere?

(2] A TBEI WEWTT,
“Onaka ga itai desu.”
“(My) stomach hurts.”
B: [Z7LATT s (AD) BNILED]
“So nan desu ka. (Nani ka) tabemashita ka.”
“Oh, I see. Did (you) eat anything? ”

(3] LwiFolx (YT fT5-0TT,
Shi-matsu wa (doko ka e) ikitai desu.
(I) want to go somewhere this weekend.

(4] HLEE (FhriD) dVETH,
Ashita wa (dare ka ni) aimasu ka.
Are (you) meeting anyone tomorrow?

(5] (Ehn) 2wk #ELIT
(Dare ka) Eigo o hanashimasu ka.
Does anyone speak English?

Part 2

(1] »WwIyNIE rEEbIE (Fhi) RFIEATLE,

Yibe wa tomodachi wa (dare mo) kimasen deshita.
None of my friends came last night.

(2] =15 (XI~®) fI5FRATLE,
Kyo wa (doko e mo) ikimasen deshita.
(D didn’t go anywhere today.

3] x0ilx (Fhrd) HLAENSETT,
Kino wa (dare to mo) hanashitaku nakatta desu.
(D) didn’t want to talk to anyone today.

(4] zhiz (Fhicd) »iFEEA.
Kore wa (dare ni mo) agemasen.
(I) am not giving this to anyone.
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(5] Al (43) EXFHATLE,
Hon ni wa (nani mo) kakimasen deshita.
(I) didn’t write anything in the book.

The N\ particle

N X/ ATXFELE /N 8T ) BRIA S
wa / ikimashita / ka / doko / otosan / e
— BRXAIT YN TTXFLED,

Otosan wa doko e ikimashita ka.
Where did father go?

(1] ~/ 2ob / (EXN /T -
e / kocchi / kudasai / kite
ZobN KT LEXu,

Kocchi e kite kudasai.
Please come this way.

2] ®mIUXA/ -~/ / BB /4iT3FT / %

Nishikawa-san / e / wa / mai-nichi / ikimasu / soko

— @BIIAIX #B I 7%F9,
Nishikawa-san wa mai-nichi soko e ikimasu.
Mr. Nishikawa goes there every day.

X/ BfXA / N/ X2 /AT5%FELE /o
wa / Tanaka-san / e / doko / ikimashita / ka
— HPIAE XIhN TEFELAE, / BHPIALR XYIN ITEFELED,

Tanaka-san wa doko ka e ikimashita. / Tanaka-san wa doko e ikimashita ka.
Mr. Tanaka went somewhere. / Where did Mr. Tanaka go?

4] ®/ 20/~ /13 /F5FLE/ B

nishi / sono / e / wa / ikimashita / kuruma

— ZOHRIT #AN TE3FL/,
Sono kuruma wa nishi e ikimashita.
That car went west.

(5] % /13 / £-C /%L /~ /132 / BTXA /I2hHn

o / wa / motte / ikimashita / e / hako / morishita-san / nikai

— HZTXIAT 322 zruvNs 5T 77xFL 7=,

Morishita-san wa hako o nikai e motte ikimashita.
Ms. Morishita took the box to the 2nd floor.
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LfeEW and KXW FHAD

NN) (BDIVALEILT) 35THR {FEX,

(Yabinkyoku de) Kitte o kudasai.
(At the post office) Stamp please.

1] Frz Ls»T (FEXn,
Mado o shimete kudasai.
Shut the window, please.

(2] KE uwolfun (EXN,
Mizu o ippai kudasai.
One cup of water, please.

(3] (2% HWT (EXNFEAD,
Kutsu o nuide kudasaimasen ka.
Could (you) please take off (your) shoes?

(4] fan LIr% (EIVEEAD,
Nani ka shigoto o kudasaimasen ka.
Could (you) please do some work?

JLPT-Style Questions

(1] #35T &R~ EBER(T) T3E7
Asatte Tokyo e densha (de) ikimasu.
(We) are going to Tokyo the day after tomorrow.

1 12 2 1% 3 0 4 T
ni wa ga de

The correct answer is #4- .

You can use the T particle to talk about the way or the tool you use to do something. Here we used
the train to get to Tokyo.

Other Answers

|2 - The |Z particle is used to talk about the time or frequency something occurs.

18RI UBTIEA%R BRNFL
Ichi-ji ni hirugohan o tabemashita.
(1) ate lunch at 1:00.

|3 — The (X particle is used to mark the topic of the sentence.

LEIAET »2nXIiD (T3FEL7A
Yamada-san wa kaigi ni ikimashita.
As for Mr. Yamada, (he) went to the meeting (but I'm not sure about anyone else).
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A — The 7' particle is used to mark the subject of the sentence.

A TEND 7T—F% BRXFILED.)
“Dare ga kéki o tabemashita ka."
“Who ate the cake?”

B IHXTIAN BRIl
“Akiko-san ga tabemashita.”
“Ms. Akiko (specifically and no one else) ate (it).”

2] —# (I2) 32w iz oIFYET
Ichi-nen (ni) san-kai yama ni noborimasu.
(I) climb mountains three times a year.

1 Iz 2 0 3 K 4 %
ni ga to o

The correct answer is #1- (< .

The |2 particle can be used to talk about the frequency you do something. The pattern is opposite
to what we use in English though.

—3#BMIZ 12Hhrn
isshu-kan ni ni-kai
two times a week

—HIZ TATW
ichi-nichi ni san-kai
three times a day

Other Answers

A — The 7' particle is used to mark the subject of the sentence.

A TrENY T—F% BRRNIELED.]
“Dare ga kéki o tabemashita ka."
“Who ate the cake?”

B IHXIIAN BRFILE
“Akiko-san ga tabemashita.”
“Ms. Akiko (specifically and no one else) ate (it).”

¥ —The Y particle is used to connect two nouns together in a sentence. It usually has the meaning
of ‘and’ in English.

Bl X FTE2TH,
Oniku to sakana ga suki desu.
(D) like meat and fish.
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% — The % particle marks the object of the sentence.
BANKE HEET,

Ongaku o kikimasu.
(D) listen to music.

3] HL F/8%=p(T) Budoz LIT,

Ashita depato (de) kaimono o shimasu.

Tomorrow, (I) am going shopping at the department store.

1 IZ 2 T 3 N 4 0
i de e ga

ni
The correct answer is #2—- C.

The T particle can mark the place where something happens. In this case, the ‘shopping’ is going to
happen at the department store.

Other Answers

|2 = The |Z particle can mark a location being traveled to or the location of something’s existence,
but not a location where an action is taking place. Take a look at the following two sentences.

LAl 1T5F7,

Toshokan ni ikimasu.

(I) am going to the library.

YLINAT BAEEE NAZIILIT
Toshokan de Nihongo o benkyo shimasu.

(D) am going to study Japanese at the library.

~ — The -\ particle is very similar to the (T particle, but places more emphasis on the direction of
travel.

SAEIN ATEXZ0WTT,
Gaikoku e ikitai desu.
(I) want to go overseas.

A — The 7' particle is used to mark the subject of the sentence.

A TENY T—F% BRNIELED]
“Dare ga kéki o tabemashita ka."
“Who ate the cake?”

B THXTIAN BNIL]
“Akiko-san ga tabemashita.”
“Ms. Akiko (specifically and no one else) ate (it).”
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YLinA (T) @RIAIC duFElrz
Toshokan (de) Nishimura-san ni aimashita.
(I) met Ms. Nishimura at the library.

1 % 2 12 3 1 4 T

o ni wa de

The correct answer is #4-"C .

The T particle can mark the place where something takes place. It is different from the |Z particle
which marks a location that is being traveled to or a time an action takes place.

Other Answers

% — The % particle marks the object of the sentence.
BANCE HELY

Ongaku o kikimasu.
(D) listen to music.

|2 — The T particle can mark a location being traveled to or the location of something’s existence,
but not a location where an action is taking place. Take a look at the following two sentences.

YLInAIT 1T5FT,

Toshokan ni ikimasu.

(I) am going to the library.

YLINAT BAREZ NAZIILIT
Toshokan de Nihongo o benkyo shimasu.

(I) am going to study Japanese at the library.

I3 — The X particle is used to mark the topic of the sentence.

LEIAE »APnEIT T3FL7=
Yamada-san wa kaigi ni ikimashita.
As for Mr. Yamada, (he) went to the meeting (but I'm not sure about anyone else).

(5] ##0 BIIBIE Y (DN B2USSETT
Senshi no nichiyobi wa doko (ka e) dekakekatta desu.
(I) wanted to go somewhere last Sunday.

1T 2 % 3 ) 4 N
ka e e mo e ka mo e

The correct answer is #1- H*"\ .

When combining particles with question words like ¥'Z , the ~\ particle goes after 7. In an
affirmative sentence like this, we should use the 7" particle to mean ‘somewhere’.
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Other Answers

A7) and £\ - These are both incorrect. We cannot place other particles in front of 7" or after ¥ .

% - This would be possible if we were making a negative statement, like the following.

FED HIOIBIT YINE EITEIEATL
Senshi no nichiyobi wa doko e mo dekakemasen deshita.
(D didn’t go anywhere last Sunday.

6] o <(oLrEld 52(TC) 500MTY.
Kono kutsushita wa itsutsu (de) gohyaku-en desu.
These socks are 5 for 500 yen.

1 2 % 3 I 4 T
ga o ni de

The correct answer is #4- .

The T particle can be used to mark tools or ways to do something. In this sentence it marks ‘the
way’ you can buy these socks. You buy them in 5s for 500 yen. Be careful not to confuse this with

the (T particle which can be used to take about the frequency which an action occurs.
—H/RIT IZhn
isshu-kan ni ni-kai
two times a week
—HBIZT ATV

ichi-nichi ni san-kai
three times a day

Other Answers

A' — The 7' particle is used to mark the subject of the sentence.

A TENDY T—F% BRXILED]
“Dare ga kéki o tabemashita ka."
“Who ate the cake?”

B IHXZIAN BNFLI.]
“Akiko-san ga tabemashita.”
“Ms. Akiko (specifically and no one else) ate (it).”

# - The % particle marks the object of the sentence.
BANKE HEET.

Ongaku o kikimasu.
(D) listen to music.

|2 — The [T particle is used to talk about the time or frequency something occurs.

18512 VBZ3AE BRILA,

Ichi-ji ni hirugohan o tabemashita.
(1) ate lunch at 1:00.
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Z0 KlF (YZi23) BUIEA,
Sono hon wa (doko ni mo) arimasen.
That book is nowhere (to be found).

1 ¥ 2 YZiz 3 ¥YZity 4 XY
doko mo doko ni doko ni mo doko e

The correct answer is #3- EZICE .

In a negative sentence, the ¥ particle is usually used with ¥'Z to mean ‘anywhere.’ You can also use
it with other question words to mean ‘anything’ ({f% , nani mo), or ‘anybody’ ( 7=#1% , dare mo).

Other Answers

¥'Z% - can sometimes be used in negative sentences with verbs of movement.

BOXTHIC YIH [TEXFHATL
Natsu yasumi ni doko mo ikimasen deshita.
(D) didn’t go anywhere for summer break.

¥'ZIZ - We can use this combination in a question, but not in a negative sentence like the one
above. We need the ¥ particle.

¥'Z-\ - The “\ particle implies some kind of motion, and marks the direction that something is
moving toward. Since books don’t usually move on their own, this particle doesn’t make much sense

here. Even if it did, it is missing the ¥ particle.

LWEIAIX FARAVD (T) Thkmz FXXT,
Yamada-san wa mannenhitsu (de) tegami o kakimasu.
Mr. Yamada writes letters with a fountain pen.

1 T 2 % 3 13 4 |z
de o wa ni

The correct answer is #1- C.

You can use the T particle to talk about a tool or method that you use to do something. In the
sentence above, Mr. Yamada is using a fountain pen to write the letter, so we need the T particle.

Other Answers

% —The % particle marks the object of the sentence. The object of the verb 7*{ (kaku, to write) in
the sentence above is T»'%4 (the letter).

BANKE HE2IT.

Ongaku o kikimasu.
(D) listen to music.
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|3 — The X particle is used to mark the topic of the sentence.

LEIAIE »0EIiT T3FL7
Yamada-san wa kaigi ni ikimashita.
As for Mr. Yamada, (he) went to the meeting (but I'm not sure about anyway else).

|2 - The |Z particle can mark a location being traveled to or the location of something’s existence,
but not a location where an action is taking place. Take a look at the following two sentences.

YLIDAIZ 1T%FT,

Toshokan ni ikimasu.

(I) am going to the library.

YLINAT BAREEZ NAZIHILIT,
Toshokan de Nihongo o benkyo shimasu.

(D) am going to study Japanese at the library.

9] Rix LIy (0) RFIZ T2%7
Chichi wa shigoto (de) toky6 ni ikimasu.
(My) father is going to Tokyo for work.

1 T 2 12 3 0 4 %
de ni ga o

The correct answer is #1- C.

The T particle can be used to mark tools or methods, but it can also mark a reason for why an
action occurs. In this sense, it can mean ‘because of’ or ‘due to’ in English. The reason Father is

going to Tokyo is because of work, so the T particle is the best answer here.

Other Answers

|2 = The |Z particle can mark a location being traveled to or the location of something’s existence.

YLIDAIZD 1T7%%9,
Toshokan ni ikimasu.
(I) am going to the library.

Y — The 7' particle is used to mark the subject of the sentence.

A TRy 7r—F% RXIELED]
“Dare ga kéki o tabemashita ka."
“Who ate the cake?”

B IHXZIAN BNFL]
“Akiko-san ga tabemashita.”
“Ms. Akiko (specifically and no one else) ate (it).”
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% —The % particle marks the object of the sentence. There is no object in this sentence since the
verb 17¢ (iku, to go) is not transitive.

BANE HEET.

Ongaku o kikimasu.
(D) listen to music.

D HE AN INSTUEIN,
Kono michi de hidari (e) magatte kudasai.
Turn left on this road, please.

1 2 2 T 3 % 4 -\
de o e

The correct answer is #4— "\ .

| |
(Y]

The ~\ particle marks the direction of movement in a sentence. In the sentence above you are
making a turn toward the left, so the ~\ particle is the best choice.

Other Answers

' — The 7' particle is used to mark the subject of the sentence.

A Ty 7r—F%2 ANILED.]
“Dare ga kéki o tabemashita ka."
“Who ate the cake?”

B IHXZIAN BNFLI.]
“Akiko-san ga tabemashita.”
“Ms. Akiko (specifically and no one else) ate (it).”

T - The T particle marks the location that an action occurs. However, Z (hidari, left) is not a

location but a direction, and so we cannot use the T particle in the sentence above. We can use it
in a similar sentence though.

DED NYT EFNS5TLEIN,
Tsugi no kado de magatte kudasai.
Turn at the next corner, please.

% - The % particle can sometimes mark a location that movement goes through or along, but can’t
be used for directions like in the sentence above.

CIZAE  JAFE LIl
Koen o sanpo o shimashita.
(I) walked through the park.
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